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Mathematics
( Algebra and statistics Geometry )
* Follow unit one : * Follow unit three :
- Scientific notation of a rational number. - The parallelogram and its special cases.
- The square root of a perfect square rational |- Theorem (1) : The sum of measures of the
number. mterior angles of a triangle = 180°
- Theorem (2) : The ray drawn of the midpoint
of a side 1n a triangle ...
- Corollary : The line segment joinning the
midpoints of two sides ...
A
Science
( Units Lessons
Unit 1 Lesson 3 : Chemical Equations and Chemical
Chemical Reactions Reactions.
Unit 2 Lesson 1 : Fundamental Forces in Nature.
nit 2
: Lesson 2 : Accompanied Forces to Motion.
Force and Motion .
Lesson 3 : Motion.
S Y
English
( Units

Unit 8 + Unit 9 + Review C + Unit 10
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Prep.

Mathematics (Algebra and Statistics) 1

Total mark

n ______________________________

Choose the correct answer : (3 marks)
gy T
@-8 ® 8 (©)=+8 @16
:Z“ff}a:ﬁb ,mcn%: ....................
@)3:2 B)2-3 ©4:3 @3:4
'3 | The standard form of the rational number 0.00000072 1 :+-------e-seee-
@)72x107° ®) 72 x 107 (©27x1077 @72x107"7
If AXYZ > if (XY)? = 100 cm? » (YZ)? = 121 cm? » then find XY + YZ (2 marks)
Total mark

ﬂ ........................

Choose the correct answer : (3 marks)
BBV (8P +(—6)? = -t
@[-10] ®)+10 ©14 d-14
2/ Which of the following is the greatest ?
@23 x 10* )23 x10° (©)32x10* @32x10°
/3| The side length of the square whose area 9 X 2 cm? Equals -o--oremen e cm. where X >0
@3x b)3.5> ©9x @9 x?
Find the result of : (5.4 x 10% + (3.7 x 10°) in the standard form. (2 marks)

QEEEER  Ulacial 18



____ Test |3

Choose the correct answer :

"1 | The multiplicative inverse of , / li 1S -

6

@5 ®

Mathematics

Total mark

"2 Which of the following numbers is in the standard form ?

(@) 11 x 108 ©)9.7x 107

(2)0.0003 () 0.0081

(3 marks)
4
@3
(©)103 x 1073 @)0.87 x 10
(©)0.003 (d)0.03

The area of a square 1s equal to the area of a triangle with base = 9 cm. long and 1ts height = 8 cm.

Find the side length of the square.

___ Test |4

B Choose the correct answer :

(1]I£0.00052 = 5.2 X 10™ 5 then m = w--evevvvvvveveeeens

(2 marks)

Total mark

5

(3 marks)

@)5 ®4 ©-4 @-5
z 6 % S,
1 2 2
@25 ®5 D3
'3 | The sum of the two square roots of the number 49 is «--ewereeeees
@7 ®) 14 ©-14 @o
[a] Find the result of : 60000 x 5000 in the standard form. (2 marks)
2 Zero
[b] Simplify to the simplest form : ( _T )

b JCLMORSSCRIERT] B PR, |



Mathematics

Total mark

B ______________________________

Choose the correct answer : (3 marks)

1| The standard form of the number 5 millions is «------e-eeo-

@)5x 10° ®)5 x 10° ©5x 107 @5 x 10*
DIEX 1= 4 > then | X = v
®-3 > ©x3 g
'3 | The additive inverse of the number ,\/% 1S rrreeeeeee e
©+ ®3 ©
[a] Find the result of : (3.8 x 10%) = (1.8 x 10%) in standard form. (2 marks)

0 2
[b] Simplify to the simplest form : ( L,;’—) 3 ( _5—2 ) x 4]6 %

L JCLMORSSCRIEE] S R, | 20



Mathematics (Geometry)

_ Test |1

Choose the correct answer :

' 1] The parallelogram with two adjacent sides are equal in length is called «----eeoees

@ square. @ rhombus.
© rectangle. @ trapezium.

' 2| If the measure of two angles in a triangle are 35° and 55° » then the triangle is «-«-weeeeor

@ obtuse-angled. @ right-angled.
© acute-angled. @ equilateral.

3] The ray drawn from the midpoint of a side of a triangle parallel to another side -+
the side.

@ is parallel to @ is congruent to
© bisects @ is perpendicular to

n the opposite figure : marks
#AIn th ite fi (2 marks)
DE// YZ >m (£ ZDE) = 50° B D

>m (£ YXZ) =105° it
Find:m((£7Z)>m(£Y)and m (£ YXD) z Y
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Mathematics

Total mark

B .....................

Choose the correct answer : (3 marks)

1| The parallelogram whose diagonals are perpendicular and not equal in length is

called - --meemmeennes
@ rthombus. @ square.
© rectangle. @ trapezium.

2] ABC is a triangle in whichm (£ A) =m (£ B) =50° > then m (£ C) = -+ vveveeenen
(@) 30° (©) 50°
(©80° @) 100°
'3 If ABCD is a square > then m (£ CAB) = ---oevvenene B
@)30° ©45°
(©)60° @ 90°

3 In the opposite figure : (2 marks)
D and E are the midpoints of AB and AC respectively A
» F €CB where BF =+ BC / S
Prove that : BEDF is a parallelogram. C B 3
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Mathematics

Total mark

B .....................

B Choose the correct answer : (3 marks)

1| The sum of measures of the interior angles of a triangle equals the measure

(@) right (b) straight
@ acute @ reflex

2| The rectangle whose two diagonals are perpendicular is called oo

@ rhombus. @ trapezium.
© square. @ rectangle.
‘3| The measure of the exterior angle of a triangle --------------- the sum of the measures of its

non adjacent interior angles.
@> ®-
©- -

P2 In the opposite figure : (2 marks)

ABCD is a parallelogram in which : B 9em.  C

m (£ ADC) = 120° , BE | AD &

yAB=7cm. - BC =9 cm. A E D

Find by proof : [1]m (£ C)
2/m (£ ABE)
'3 | The perimeter of the parallelogram ABCD
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Mathematics

Total mark

n ........................

Choose the correct answer : (3 marks)

1/ InAABC :if m (£ A)>m (£ B) +m (£ C) > then the angle A is - eeeeeeeeee:

@ acute. @ right.

© obtuse. @ straight.
2/ ABCD is a parallelogram in which m (£ A) + m (£ C) = 160°
k] then m (L B) T ez LSRN ..

(a) 80° ® 50°
(c) 100° @ 120°
3| The square is a -« with a right angle.

@ rectangle @ rhombus
© parallelogram @ trapezium
In the opposite figure : (2 marks)
AB//DC // EF »BD N AE = {H}

>m (£ E) =110° H

,m (£ D) =120° “C D E e

Find with proof : m (£ EHD)
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Mathematics

Total mark

B ........................

Choose the correct answer from those given : (3 marks)

"1 The rectangle whose two diagonals are perpendicular is called ..............

@ square. @ rhombus.
© rectangle. @ trapezium.
2/InAABC : if m (£ B) =2 m (£ C) = 60° » then the triangle is - triangle.
@ acute-angled @ equilateral
© obtuse-angled @ right-angled

'3 If ABCD is a thombus in which m (£ ACB)=32° sthenm (£ D) = ----eeeeve.
(@) 32° ) 64°
(©) 116° @) 26°

In the opposite figure : (2 marks)
m (£ BAE) =45° ,m (£ AEB) =70° i e
»m (£ D)=65° ,m (£C)=115° A

P 15
Prove that : ABCD i1s a parallelogram. B = E C
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Science

Total mark

n ....................

Answer the following questions.

I Choose the correct answer : (8 marks)

1] The sum of reactants masses in any chemical reaction is .............. the sum of

products masses.

() doubled (b) more than

(©) equal to (d) less than
2| The bar used in the electromagnet is made up of ...

(@) isolated cooper. (b) steel iron.

(©) wrought iron. (d) aluminium.

The car brake performance 1s an application of ...

(a) gravitational forces. (b) friction forces.
(©) centrifugal forces. (@) forces of inertia.
‘4] In the periodic motion, ...
() the pathway is straight. (b) motion is regularly repeated.
(c) mass is regularly repeated. (d) speed is regularly changed.
23 Give a reason for the following : (2 marks)

The car passengers are rushed forward when the car stops suddenly.
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Science

Total mark
_ Test |2 ”

Answer the following questions.

I Choose the correct answer : (8 marks)

1] All of the following are periodic motions, except the ...

(3) fan motion. (b) pendulum motion.

() train motion. (d) sunflower motion.

(2] A force is an effect that .................
(2) always changes the state of an object's motion.
(b) never changes the state of an object's motion.
(c) always changes both object's position and direction.

(d) may change the state of an object's motion.
3] If the molecule of carbon dioxide consists of one atom of carbon and two atoms

of oxygen, knowing that the mass of carbon 1s 12 and that of oxygen is 16, so the

mass of two molecules of carbon dioxide equals ............... gm.
(@22 (b) 44 (©) 88 @33
4] When the horse is tripped, the horse rider is suddenly rushed forward, this is related
to the forceof ..o
() inertia. (b) centrifugal.
() attraction. (d) horse pushing.
21 If the Earth's gravitational acceleration in a place is 9.8 m/sec?, find
the weight of the following : (2 marks)
1]0.3 Kg mass ball.

2/50 Kg mass ball.
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Science

Total mark

Answer the following questions.

I Choose the correct answer : (8 marks)
(1] The inertia force affects the .............
() moving objects only. (b) static objects only.
(©) moving and static objects. (d) small objects only.

2] From the examples of forces inside living system is/are .............

(a) pulse inside blood vessels. (b) inertia.
(©) brakes. (d) burning match.

3] The movement of electrons around the nucleus is considered ............. motion.
(a) vibrating (b) circular
(¢) transitional (d) wave

"4 Which of the following is considered a balanced chemical equation ? ................
@ Mg + O, —2—=MgO ®2Mg + 0, —2-=MgO
(© Mg + 0, —2=2MgO @2 Mg +0,—2+=2MgO

23 Mention one benefit (use) of electric winches : (2 marks)
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Science

Total mark

Answer the following questions.

I Choose the correct answer : (8 marks)
1) Waves is an example of mechanical waves.
(@) Water (b) Light
(©) Radio (@) Ultraviolet
2/ Ammonia combines with conc. HCI producing ... of ammonium chloride.
(a) white ppt. (b) brown clouds
(©) white clouds (d) brown ppt.
3] An object's weight on the Earth's surface 1s related to the ................ forces.
() electromagnetic (b) gravitational
(c) weak nuclear (d) strong nuclear
4 ... 1s a technological application on inertia forces.
(@) Car tyres
(b) Contraction and relaxation of muscles
(c) Safety belts
(d) Electromagnet.

23 Compare between light and sound waves (one point only of each).

(2 marks)
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Science

Total mark
____ Test |5 ”

Answer the following questions.

I Choose the correct answer : (8 marks)

1. The following forces and operations are applications of friction, except .............

(2) walking on the road.

(b) car motion due to rotation of its wheels.
(¢) operation of dynamo (electric generator).

(d) stopping the car using the brakes.

2] The amount of Earth's gravitational pull on the objectis .............

() object's mass. (b) object's weight.
(c) Earth's gravitational acceleration. (d) centrifugal force.
3| The bright magnesium ribbon changes into a white powder of ............... when it
burns 1n air.
(2) magnesium nitrate (b) magnesium oxide
(c) magnesium hydroxide (d) magnesium dioxide

4] All of the following are electromagnetic waves, except the ...

(@) thermal (infrared) rays. (b) visible light.
(©) sound waves. (d) ultraviolet rays.
23 What happens when ... ? (2 marks)

An electric current flows through the 1solated copper wire which is coiled spirally

around a plastic tube containing iron bar and approach it to iron filings.
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English

Sample Test n

Choose the correct answer froma,b,cord:

1. During a trekking adventure, youneeda............ to help you find the way.
a. tourist b. rider c. guide d. driver
2.Travelling through the desertisagreat ... . | like it a lot.
a. fear b. adventure c. surfing d. kayaking
3.A:What about ... lining 7 B: It's dangerous.
a. rock b. wind c.zip d. rope
4.When you go diving, you should have some ............ to keep you safe.
a.equipment b. subject c.argument d. kind

5. After coming out of the sea, | dried myself witha ...
a. tape b. pool c. tool d. towel
6.1 didn't buy this cake.I madeit ... .

a. himself b. herself c. yourself d. myself
7.Tomorrow, we're ............. to try windsurfing in the morning.

a. goes b. going c.went d.go
8.What ... you going to wear tomorrow ?

a.do b. have c.are d. were
9.”........"means without making much noise; not noisy.

a. Quite b. Quiet c. Tunnel d. Crowded

10.You can put all these books on the desk. There's enough ...

a. wood b. money C. space d.time

Read and correct the underlined words :

1. What shall we doing tomorrow ? (i)
2.How about go kayaking next weekend ? —
3.1 made this cake me. (o ....)
4. Maged's father is going to flying abroad. (T
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English

Sample Test E

Choose the correct answer froma.b . c ord:

1.1'm sure, Samira made this cup of teaby ...

a. itself b. herself c. myself d. himself
2.1woke up earlyand .......... myself breakfast.

a. dried b. made c. hurt d. started
3.When there's ............, we can see ice on the ground.

a.sun b. storm C. snow d. rain
4.The ground was very ............ after the rain yesterday.

a. windy b. wet c.dry d. high
5.She .......... amistake and apologised.

a. did b. made c. took d. sold
6.The museum has alotof valuable ...

a. numbers b. competitions c. pyramids d. treasures
7.The bridge was built on stone ............... to stay strong.

a. shows b. valleys c. columns d.lines
8.Tokais .......... than Rokaya.

a. quiet b. quieter C. quietest d. more quieter
9.I'mgoingto.........rock climbing tomorrow.

a. play b. try c. make d. cook
10.What ... learn ?

a.is going b.sheisgoingto c.isgoingto d. is she going to

Read and correct the underlined words :

1. The cinema is empty than the metro. (— -\~
2.1don't going to travel this week. - -
3. Will you going to visit your grandmother ? e ——
4.1 going to paint my room tomorrow. | have decided that. (——
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Prep.

Answers of Mathematics

(Algebra and Statistics) 1
Answers of Test n
B0 2® B@
- (XY)? = 100 cm? - XY =1100 =10 cm.
s (YZ)? = 121 em? ~YZ=Y121=11 cm.

XY+ YZ=10+11=21 cm.
Answers of Test B
2]@ B@

B0®

The expression = 10% (54 + 3.7 x 10) = 10% (5.4 + 37) =424 x 10 = 424 x 10°

Answers of Test B

BUO 2® 3@

"> The area of the triangle = % x 8 x 9 = 36 cm? .. The area of the square = 36 cm?

.. The side length of the square = v 36 =6 cm.

Answers of Test ﬂ

B10O© 2@ B@

[a]60000x5000:300000000:3x108

b2 ) 8+ (L)f=2-2.11

Answers of Test B

BOUO® B®

8
[a] The expression = ‘;’—8 X % = 2 x 107

Ll R R e R
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Prep.

Answers of Mathematics
(Geometry) 1

Answers of Test n
L1 [O) 2)® B©

.- DE // YZ > DZ is a transversal to them E D

s.m (£ D)=m (£ Z)=50° (alternate angles) X
- The sum of the measures of the interior angles of the triangle = 180°
~.m(£Y)=180° - (105° + 50°) = 25°

» =~ £ YXD is an exterior angle of A XYZ

Sam C2Y XD) = 50° 125%= 75° (The req.)

Answers of Test n
21©

®

B

P In AABC:
- D is the midpoint of AB » E is the midpoint of AC E D
-. DE//BC
,--FECB
-. DE// BF (1)
,~-DE=1BC,BF=18C
-. DE=BF Q2)
From (1) and (2) :
.. BEDF is a parallelogram. (QED)

Answers of Test B
L1 IO 2© B@

P2 -- ABCD is a parallelogram B 9cm. L

-~ m(£C)+m(£D)=180° s
~.m (£ C)=180°-120° = 60° (First req.) 120°.
*m(£A)=m (£ C)=60° A ZoN b
»In A ABE : m (£ ABE) = 180° — (90° + 60°) = 30° (Second req.)

» the perimeter of the parallelogram ABCD = (9 +7) x 2 =32 cm. (Third req.)
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Answers of Mathematics

Answers of Test n

B0O© 2© E®

(2 B AB//DC , BD is a transversal to them.

-~ m(£B)+m(£D)=180°

(Two interior angles in the same side of the transversal)
-~ m (£ B)=180° - 120° = 60°

,-- AB//EF , AE is a transversal to them.
~m(£LA)+m(£LE)=180°

(Two interior angles in the same side of the transversal)
~.m (£ A)=180°-110° =70°

~.In ABHA:

m (£ BHA) = 180° — (60° + 70°) = 50°

- BDN AE={H}

~.m (£ EHD) =m (£ BHA) =50° (V.O.A)

Answers of Test B

B0® 2@ Bl©

(The req.)

3 In A ABE : m (£ B) = 180° — (45° + 70°) = 65°
> m(£D)+m (£ C)=65°+115° = 180°
and they are interior angles in the same side of the transversal
. AD// BC €))
> m(£B)+m (£ C)=65°+115° =180°

and they are interior angles in the same side of the transversal

- AB//CD )
s> from (1) and (2) :
.. ABCD is a parallelogram. (QED)
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Answers of Science

Answers of Test n
@M© 2©

BO® 4 ®

§:3 Due to inertia, as they try to maintain their state of motion.

Answers of Test ﬂ
A DG, 2]@

BE 2@

Iz} The weight of the object = object's mass x Earth's gravitational acceleration
1] The weight of the ball =0.3 x 9.8 = 2.94 newton.
(2] The weight of the ball = 50 x 9.8 = 490 newton.

Answers of Test B
@M© 2@

BO® 4@

I} They are used to lift scrap iron and cars in ports.

Answers of Test n
LA 5O R©

B® 4©

I3 Light waves : from electromagnetic waves.

Sound waves : from mechanical waves.

Answers of Test B
(A DO} 2®

B® @©
I} The iron nail is changed into a temporary magnet due to flowing of an electric current
through the wire, then 1t will attract the iron filings.
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1 g Answers of English

Galac)l

Answers of Sample Test n

Choose the correct answer froma,b,cord:

1. (c) guide 2. (b) adventure 3.(c) zip 4. (a) equipment
5. (d) towel 6. (d) myself 7. (b) going 8. (c) are
9. (b) Quiet 10. (c) space

Read and correct the underlined words :
1.do 2. going
3. myself 4. fly

Answers of Sample Test B

Choose the correct answer froma.b.c ord:

1. (b) herself 2. (b) made 3.(c) snow 4. (b) wet
5. (b) made 6. (d) treasures 7. (c) columns 8. (b) quieter
9. (b) try 10. (d) is she going to

Read and correct the underlined words :
1. emptier 2.am not

3. Are 4. am going
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